Exponents of Decimals

Name: Score:

Calculate the exponents of the following decimals.

(03) = (05) = (0.5) =
(-0.1) = (0.1) = -02) =
(11) = (:02)’ = (15) =
(-2.6) = (43) = (-22) =
(0.4) = (:0.1)° = (44) =
(18) = (3.1)' = (0.6) =
(-1.9) = (33) = (-3.5) =
(0.6) = (:0.5)" = (277 =
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Answers

Calculate the exponents of the following decimals.

3
(03) =0.027
2
(-0.1) = 0.01
(1.1) =121

3
(-2.6) =-17.576

(0.4) =0.064
2

(1.8) =324
2

(-1.9) = 3.6
3

(0.6) =0216
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2
(0.5) =0.25
3
(0.1) =0.001
3
(-0.2) =-0.008

3
(4.3) =79.507

3
(-0.1) =-0.001

3
(-3.1) =-29.791

(3.3) =35.937

(:0.5)" = -0.125
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2
(-0.5) =0.25

2
(-0.2) =0.04

3
(1.5) =3.375

2
(-2.2) =4.84

3
(44) =85.184

2

(0.6) =0.36
2

(-3.5) =12.25
2

(2.7) =7.29



